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@Base your answer to the following question on on the following
chemical reaction:
|

L2
o

If 5.00 moles of zinc is placed into 1.50 L of a 3.00 M HCl
solution, what is the mass of the hydrogen gas produced?

Zn (s) + 2 HCI (aq) — ZnCl, (s) +H,(g)

(A) 0.750 g (D) 5.00¢g
B) 2.25¢g (E) 100g
(©) 450g

Base your answers to questions 35 and 36 on the reaction below:
UF, (s) + 2 H,O (/) - UF,0, (s) + 4 HF (g)

When a sample of uranium hexaflouride (molar mass 352 g)
. reacts with an excess of water, 22.4 L of HF are produced at STP.

What was the mass of this sample?

(A) 44.0¢ (D) 264. ¢
(B) 88.0¢ (E) 352.¢
©) 176.¢

88.0 g of UF (molar mass 352.) is placed in 9.00 mL of water.
What remains unreacted?

(A) 0.440 g UF,
(B) 0.220 g UF,
(C) 4.00 mL water

(D) 4.50 mL water
(E) nothing

@ What mass of hydrogen has to react with 1.5 mol N, to produce
NH,

A) 10g (D) 45¢
B) 15¢g (E) 6.0g
©) 3.0¢g

__CH,COOH+_ 0,»__ CO,+_H,0

How many moles of water are produced by the oxidation of 1
mole of CH;COOH in the above reaction?

) 8 D) 4
B) 2 ([E) 6
©) 3

@ __AlL(SO,); +__Ca(OH), —» _ AI(OH), + _ CaSO,

What will be the coefficient of calcium sulfate when the above
equation is balanced and all coefficients are reduced to their
lowest whole number terms?

A) 1 D) 4
®) 2 E) 6
©) 3

When the balanced equation for the combustion of CsH,, with O,
has been written and all the coefficients have been reduced to
lowest whole number ratios, what is the coefficient for O,?

PRopuCTS (
COy awd H}O .

NO () + 0, (g) » 2NO, (2)

A mixture containing 0.30 mol NO and 0.30 mol O, reacts in a
1.0 L flask at a constant temperature of 20°C. What is the
pressure in the flask when the reaction is complete?

(A) (0.60)(0.082)(293) atm (D) (0.60)(0.082)(20) atm
(B) (0.45)(0.082)(293) atm (E) (0.45)(0.082)(20) atm
(C) (0.30)(0.082)(293) atm

4 HF (g) + Si0, (s) —SiF, (g) +2 H,0 (1)

If 10. g of HF (formula mass 20. g/mol) reacts with 15Adg)of SiO
, (formula mass 60. g/mol), how much water is produced?

(A) 23¢ (D) 18.¢

B) 45¢ (E) 36.¢

©) 90¢g

thn 80. mL of 1.5 M K,S0, is added to 20. mL of 0.50 M

KHSO,, the resulting concentration of K" ions is

(A) 1.0M (D) 2.5M

B) 1.3M (E) 2.6 M

©) 2.0M

Cgl g+ 0, » CO,+ H,0
Based on the above unbalanced chemical equation, one gram of
octane will yield what mass of water?

(A) 0.079 ¢ (D) 162¢g
®) 14¢g (E) 0.158 ¢
©) 18¢

@(ZCrZO7 + 14HCI = 3Cl, + 7TH,0 + 2CrCl; + 2KCI

According to the equation above, how many moles of HCl would
be necessary to produce 6.0 moles of CrCl,, starting with 4.0
moles of K,Cr,0,?
(A) 6.0 moles
(B) 42. moles

(C) 14. moles

MnQ, +5H,C,0, + 3H,80, - 2MnSO0, + 10CO, + 8H,0 + K,
S0,

According to the equation above, how many moles MnO, of
would be necessary to produce 20.0 moles of CO,, starting with
25.0 moles of H,C,0,?

(A) 4.00 moles
(B) 25.0 moles
(C) 20.0 moles

(D) 2.0 moles
(E) 28. moles

(D) 2.00 moles
(E) 8.00 moles
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